
In
s
ta

lla
tio

n
 illu

s
tra

te

Web：https://www.mwworkstation.com/

Tel：+86 13695211636

Mail：robbor@mwworkstation.com

Hk85 
Glass Reception



1P

2P

Hk85 
Glass reception 

3P

6P

7P

Contents

Product ----------------------

Frame Installation ----------------------

Electric Control And Glass Installation ----------------------

Table Frame Installation ----------------------

Logo Installation ----------------------

www.mwworkstation.com


FAST AND CONVENIENT INSTALLATION SYSTEM

PRODUCT

1/7

Hk85 
Glass Reception

mwworkstation.com

www.mwworkstation.com


2/7

INSTALLATION STEPS

STEP:1

Corner poleBottom bar

Connector

STEP:2

mwworkstation.com

www.mwworkstation.com


INSTALLATION STEPS

3/7

STEP:3

STEP:4

LED

M4*12 Screw
MFC Frame

mwworkstation.com

www.mwworkstation.com


INSTALLATION STEPS

4/7

STEP:5

STEP:6

M4*12 Screw

M4*12 Screw

mwworkstation.com

www.mwworkstation.com


INSTALLATION STEPS

5/7

STEP:7

STEP:8

M4*12 Screw

Glass frame

Connector

Side cover

mwworkstation.com

www.mwworkstation.com


INSTALLATION STEPS

6/7

STEP:9

STEP:10

Side cap

M6*20 Screw

M6*16 Screw

mwworkstation.com

www.mwworkstation.com


INSTALLATION STEPS

7/7

STEP:11

STEP:12

M6*16 Screw

Gum water-A  X 1

Gum water-B  X 1

①

Crystal word  X 1

②

mwworkstation.com

www.mwworkstation.com


Web: mwworkstation.com

Mail: robbor@mwworkstation.com

Tel: +86 13695211636

WhatApp: + 86 13695211636

Add: NO.3 Xingye North Road Dawotang Industrial 

District Shishan Nanhai Foshan City Guangdong

P.R China

WhatApp

Facebook Instagram Twitter Pinterest Linkein YouTube

https://www.facebook.com/MW-Office-Furniture-109746601654211/?ref=pages_you_manage
https://www.instagram.com/mwworkstation/
https://www.twitter.com/mwworkstation
https://www.pinterest.com/mwworkstation/
https://www.linkedin.com/company/mwworkstation
https://www.youtube.com/channel/UC5g8NpulD7US2ZFOViOBRzg

	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	安装封面
	页 1

	安装封尾
	页 1




